AMERICAN VINTAGE 11 1973 STRATOCASTER® (011027 XXXX)
PARTS LAYOUT

° 36)(37
8
o O 1
T 12 _
o
17 3
18 o ® oot (®)
0 ¢ NORS 34
®
1718 0 ]
ve
19 000000 Y 35
T 3345
17Y18 21
A 22
20 000000 24 )
23
A ® 26
: 25 .
V< 24 °
® ®
3 23Ps 008000
® ® 25 e e
‘@.I» 27
31
15
28
30 >
32 36)(37

?%4% COPYRIGHT - 2023 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 1 of 6
Mar 13, 2023 - PR6075 - Rev. A




AMERICAN VINTAGE 11 1973 STRATOCASTER® (011027 XXXX)

PARTS LIST
REF# DESCRIPTION PART
NUMBER
1 BODY AM VINT Il 73 STRAT MOC 7721682529
1 BODY AM VINT Il 73 STRAT AGNAT 7721682534
1 BODY AM VINT Il 73 STRAT LPB 7721681502
2 NECK ASSY AM VINT Il 73 STRAT RW 7721684000
2 NECK ASSY AM VINT Il 73 STRAT MPL 7721683000
3 KEY GTR 70'S F SHORT RH SET W/HDWR 0990822100
4 SCREW SMAB 3 X 3/8 RHP STL NI 0011357049
5 STRING TREE VINTAGE W/HDWR 0992083000
6 SCREW SMA #3 X 5/8 RHP STL NI 0011358049
7 SPACER NYLON STRING TREE 0093999000
8 SCREW SMA 8 X 1-3/4 OHP NI 0015636049
9 TILT DISK UPPER NECK 0020220049
10 [ TILT DISK LOWER BODY 0020212049
11 SCREW SMA 8 X 3/4 FHP NI 0084699049
12 BOLT ADJ 1/4-28 X 1-9/16 0012156049
13 SET SCREW HEX OVPT 10-32 X 1/2 0020972049
14 PICKGUARD AM STD STRAT P/B/P 7721702000
14 PICKGUARD AM STD STRAT B/W/B 7722076000
15 SCREW SMAB 4 X 1/2 OHP NI 0015578049
16 PICKUP ASSY AM VINT Il 73 STRAT NK AGED WHT 7721687000
17 SCREW 6-32 X 3/4 RHPSTL NI 0048631049
18 [ TUBING LATEX CUT .300 X 1/8ID X 1/40D 0036481000
19 PICKUP ASSY AM VINT Il 73 STRAT MID AGED WHT 7721688000
20 PICKUP ASSY AM VINT Il 73 STRAT BRIDGE AGED WHT 7721689000
21 SWITCH 5-WAY LEVER 0038929049
22 KNOB P/U SWITCH VINT AGED WHT 0994938000
23 CONTROL 250K 10% TPR SPLIT 0990830000
24 | WASHER LOCK INTL 3/8 X .687 0016436049
25 NUT HEX 3/8-32 X 3/32 TK NI 0016352049
26 KNOB STRAT (1) VOL (2) TONE AGED WHITE 0991369000
27 CAP CERAMIC DISC .1MFD 50V 0094393000
28 FERRULE JACK CHROME 0991940100
29 | JACK PHONE OPEN CIRCUIT 11 0021956049
*= NOT PICTURED IN DIAGRAM
?%4@(; COPYRIGHT - 2023 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 2 of 6

Mar 13, 2023 - PR6075 - Rev. A




AMERICAN VINTAGE 11 1973 STRATOCASTER® (011027 XXXX)

REF# DESCRIPTION PART
NUMBER
30 BRIDGE ASSY AM VINT STRAT CHR 0094247049
30A | BRIDGE PLATE VINT STRAT 0019470000
30B | BRIDGE BLOCK VINT STRAT 0019473049
30C | SCREW MACH 8-32 X 3/8 FHP NI 0019656049
30D |BRIDGE SADDLES SHORT/TALL SET W/HDWR 0992091000
30E | SCREW MACH 4-40 X 5/8 RHP NI 0015693049
30F | SPRING BRIDGE 7/16” 9 COIL 0094278000
30G | SPRING BRIDGE #1932 0019281049
30H | SPRING BRIDGE 3/8” 7 COIL 0094277000
31 SCREW WOOD PH 6 X 1-1/8 NI 0016170049
32 SPRING .1500D 1/2” LONG .039” 0994931000
33 COVER TREMOLO VINT STRAT BLACK 0069046000
33 COVER TREMOLO VINT STRAT PARCH 0054013000
34 CLAW SPRING TENSION ZINC 0010272049
35 SPRING TREMOLO TENSION VINT 0031643049
36 BUTTON STRAP NI .156” 0994915000
37 SCREW WOOD 6 X 1 OHP NI 0016188049
* CASE VINT 70 STRAT 0090824000
* WRENCH .050 HEX KEY(SADDLE HEIGHT ADJUST) 0018531049
* BRIDGE COVER STRAT & TELE THINLINE 0010223080
* ARM TREMOLO VINT STRAT PLATED 0992039000
* KNOB TREMOLO VINT AGED WHITE 0994933000
*= NOT PICTURED IN DIAGRAM
?%4@(; COPYRIGHT - 2023 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 3 of 6

Mar 13, 2023 - PR6075 - Rev. A




AMERICAN VINTAGE 11 1973 STRATOCASTER® (011027 XXXX)
WIRING ASSEMBLY

©
NECK PICKUP
©Noe
©
J
5-WAY = ~
SWITCH
@O O Ood® O O o
MIDDLE PICKUP _
=—0 ¢

CAPACITOR

BLACK WIRE FROM
TREM CLAW TO VOLUME POT|

TONE 2
CONTROL
OUTPUT
ASSY
?%4% COPYRIGHT - 2023 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 4 of 6
Mar 13, 2023 - PR6075 - Rev. A




AMERICAN VINTAGE 11 1973 STRATOCASTER® (011027 XXXX)
SWITCHAND CONTROL FUNCTION

TONE
T1 T1 T1 T1&T2 T2 CONTROL
[ ] [ ] [ ] [ ] 5 WAY
5\ A x| e 1 SWITCH
b ® ® ® POSITION
NECK
- - A LI Iraam) PICKUP
MIDDLE
D | D D PICKUP
BRIDGE
‘Epy. . -
@ P!CKUP IS ON PICKUP IS OFF
(@) (@)
AN
O
O
O
(]
[e)
NECK PICKUP —%
)
5(Go0000)
MIDDLE PICKUP 5-WAY

SWITCH
900000
®
BRIDGE PICKUP ® o

0o
0- ® MASTER VOLUME
(T1) TONE 1 CONTROL

(T2) TONE 2 CONTROL

?%J% COPYRIGHT - 2023 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 5 of 6
Mar 13, 2023 - PR6075 - Rev. A




AMERICAN VINTAGE 11 1973 STRATOCASTER® (011027 XXXX)

ADDITIONAL SPECIFICATION DETAIL

FRET SIZE: VINTAGE

(FRET DIMENSIONS

ARE BEFORE INSTALLATION)

2-7/16™

Wwvvvvvvwvwww

.083” |

-

PLEASE NOTE: AS EACH NECK IS

SANDED & FINISHED BY HAND,

THICKNESS DIMENSIONS MAY

VARY SLIGHTLY FROM THOSE
SHOWN.

NECK PROFILE: VINT 73 STRAT “C”

!

.850”

1ST FRET PROFILE

.910”

12TH FRET PROFILE

TUNING MACHINE SET W/HDWR : P/N 0990822100

OUTER SHAFT DIAMETER .234”

5

I
N

0.234”

TUNING MACHINE THRU-HOLE

@ .397"

INNER DIAMETER .397”

.050" HEX

SADDLE HEIGHT ADJUSMENT WRENCH:

TRUSS ROD NUT P/N 0994945000

.050" HEX KEY P/N 0018531049

FENDER

C)

d3aN3d

TRUSS ROD ADJUSTMENT WRENCH:

1/8” HEX KEY P/N 0023811049

343"
O  1/8” HEX ml 3
/
SADDLE HEIGHT ADJUSTMENT SCREWS: 10-32J
TALL: P/N 0075384000 SHORT: P/N 0075536000 THREAD
LOGO: VINTAGE 1973 STRATOCASTER PICKUP SPECIFICATIONS
APPLIED UNDER THE FINISH
POSITION MAGNETS | DC RESISTANCE| POLARITY
NECK | ALNICO5 | 58.64KQ | SOUTH
c ] UNBEVELED
® STBATD AS’[# félﬁ
MIDDLE| ALNICO5 | 58._64KQ | NORTH
UNBEVELED
ALNICO 5 i
BRIDGE UNBEVELED 6.4-7.0KQ | SOUTH
?%4% COPYRIGHT - 2023 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 6 of 6

Mar 13, 2023 - PR6075 - Rev. A




